ﬁﬁg = [E=) =3 == v WIEﬁﬁ &IE& T E&E A5 i sk | %= o

NO. ﬁﬁ;&%ﬁ'\ Ei%ﬁ'\ E#ﬁ ﬁ{-L ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx 75%'_ ﬁiéﬁg *15'] ;EEIJ%
Kik—IV (EEEH

87| —Bx k> 42— lergF) TH-AGE 1,812.00{9-128%(3) 12,000 12,500 500 # [FR—ILAGREZRERE) bt 2—%51
¥l 4711
KR—IV(EEFEH

87| —Bx k> 42— 1,211) FH-AGE 1,812.00/13-178% (4) 17,000 17,800 800 ¥ [R—ILAGEEREXIS) Xkt 2—515
-k
Kik—IV(EEFEH

87| —Bxitt> 42— 1,211) FH-AGE 1,812.00|18-228% (4) 22,000 23,000 1,000 1 [R—ILAGREREXIE) Xkt 2—515
FERE S|
Kik—IV(EEFEH

87| —Bx k> 42— 1,211) FEH-AGE 1,812.00{9-178%(8) 29,000 30,300 1,300] 1 [R—ILAGREREXI) Xkt 2—515
- R
Kik—IV (EEEH

87| —Bx k> 42— 1,211) FH-AGE 1,812.00|13-228%(9) 39,000 40,800 1,800 & |F—ILAGRERERT) bt 2—%51
- FRERE
Kik—IV (EEEH

87| —Bx k&> 42— 1,211) FH-AGE 1,812.00|9-228% (13) 45,000 47,100 2100 # |FR—ILAGREREXIG) Xkt 2—515
#-£8
Kik—IV (EEEH

87| —Bxitt> 42— 1211) B AL 1,812.00|9-128% (3) 14,000 14,600 600 & [FR—ILAGEEREXIS) Xkt 2—E1
3 SRR )
Kik— IV (EEEH

87| —BxX k> 42— 1211) £BfR- A5 1,812.00|13-178% (4) 21,000 22,000 1,000 & |F—ILAGRERERT) bt 2—%51
-k
Kik—IV(EEEH

87| —Bxitt> 42— 1211) tBfR- AL 1,812.00|18-228% (4) 27,000 28,200 1,200 & |FR—ILAGRERERT) bt 2—%51
3 |
Kk— IV (EEEH

87| —Bxitt> 42— 1211) tHfR- AL 1,812.00|9-178% (8) 35,000 36,600 1,600] 1 [R—ILAGREREXIE) Xkt 2—515
& BE
Kik—IV(EEEH

87| —Bxitt> 42— 1211) B AL 1,812.00|13-228%(9) 48,000 50,200 2200 # |FR—ILAGREREXIG) Xkt 2—51
|- R
Kik—IV (EEEH

87| —Bx k> 42— 1,211) tBfR- A5 1,812.00|9-228% (13) 55,000 57,600 2,600 1 [FR—ILAGRERERIE) bt 2—51
|y -2y
Kik— IV (EEFEH

87|—BEx bz 2— 1,211) ¥ H-1,000M 1,812.00{9-128%(3) 18,000 18,800 8oo| i R—ILAGREZR B XIIE) bt 2—%51
AR - 48i

1/18 R—2




e 5% s = - i34 IERT WIE£ . E P .

No. ﬁﬁa&%ﬁ'\ Ei%ﬁ'\ E#ﬁ ﬁ{i ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx ﬁﬁ_l_ ﬁiéﬁg %1&“ ;EEIJ%
Ki—IL (EBEFEH

87| —Bx k> 42— 1,211) ¥ H-1,000M 1,812.00|13-178F(4) 25,000 26,100 1,100] & R—ILAGREREXE) bt 2—51
LT -Fi%
Kik—IL (EEFESR

87|—BEx bz 2— 1,211) *¥H-1,000M 1,812.00|18-228% (4) 33,000 34,500 1,500 & R—ILAGREZR B XIIE) bt 2—%51
LATF -7’
Ki—IL (EBEFEH

87|—BEx k22— 1,211) *¥H-1,000M 1,812.00{9-1785(8) 43,500 45,500 2000 & R—ILAREZR B XIIE) bt 2—%51
LUTF - B RE
Ri—IL (EEFEH

87| —Bxtt> 42— 1,211) ¥H-1,000M 1,812.00|13-228%(9) 58,500 61,200 2,700 # |[R—ILAGREREXK) bt 2—5&15
LT -F% %KM
Ki—IL (EBEFEH

87|—BEx bz 2— 1,211) *¥H-1,000M 1,812.00|9-220%F (13) 67,500 70,700 3200 & R—ILAGREREXE) bt 2—55]
I =
Kik—IL (EBEFES

87|—BEx btz 2— 1,211) X B#%i-1,000 1,812.00{9-128% (3) 21,000 22,000 1,000] & R—ILAGREZR B XIIG) bt 2—%&51
ML - 48
Ri—IL (EEFEH

87| —Bxitt> 54— 1,211) X B#%i-1,000 1,812.00{13-178% (4) 31,500 33,000 1,500 & R—ILAGREZR B XIIE) bt 2—%51
AT -F#.
Ri—IL (EBEFEH

87| —Bx k> 42— 1,211) £ H%-1,000 1,812.00|18-228% (4) 40,500 42,400 1,900 & R—ILAGREREXE) bt 2—55]
AL - &
Ki—IL (EBEFEH

87|—BExX btz 2— 1,211) £ H%-1,000 1,812.00{9-178%(8) 52,500 55,000 2500 & [FR—ILAGEREREXIE) bt 2—%51
AT - BFE
Ki—IL (EBFEH

87|—BExX ikt 42— 1,211) £ H#-1,000 1,812.00(13-228%(9) 72,000 75,400 3400 ¥ |[FR—ILAGREREXK) Xt A—& 4
ML - F1& 7%
Ri—IL (EEFEH

87|—BEx btz 2— 1,211) X B#%i-1,000 1,812.00|9-220% (13) 82,500 86,400 3900 & R—ILAGREZR B XIIE) bt 2—%&51
AUT-£H8
Ki—IL (EBEFEH

87| —Bx k&> 42— 1,211) ¥ H-3,000M 1,812.00{9-128%(3) 21,600 22,600 1,000] & R—ILAGREREXIE) bt 2—55]
Rt - I
Ki—IL (EBEFEH

87—k 2— 1,211) ¥ H-3,000M 1,812.00|13-178F(4) 30,600 32,000 1,400 & R—ILAREZR B XIIE) bt 2—%51
Rilm-Fi&

2/18 R—T




MeE%

SIEAT

WIETR

BE

= = i =3 B A 3 A5 i e gy 4Bl «

No. ﬁﬁ;&%ﬁ'\ Ei%ﬁ E#ﬁ ﬁ{-L ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx ﬁﬁ_l_ ﬁiéﬁg *15'] ;EEIJ%
Ki—IL (EBEFEH

87| —Exit 25— 1211) FH-3,000M | 1,812.00|18-228%(4) 39,600 41,4000  1,800| & |FR—ILAGRMEREXIE) Xkt 5—%AHl
K- &M
Kik—IL (EEFESR

87| —ExXit 57— 1,211) FH-3,000M | 1,812.00/9-178F(8) 52,200 54,600  2400| & |R—ILAGREREXIE) Xt 52—l
Ritm- R
Ki—IL (EBEFEH

87|—BEx k22— 1,211) ¥ H-3,000M 1,812.00|13-228%(9) 70,200 73,500 3,300, & R—ILAREZR B XIIE) bt 2—%51
Rilh-FRKHE
Ri—IL (EEFEH

87|—BEx btz 42— 1,211) ¥ H-3,000M 1,812.00|9-228% (13) 81,000 84,800 3800 & R—ILAGREZR B XIIE) bt 2—%&51
KRim-£8
Ki—IL (EBEFEHR

87| —Bx k> 42— 1,211) £ H%%-3,000 1,812.00{9-128% (3) 25,200 26,400 1,200 & R—ILAGREREXE) bt 2—55]
MK i - 48
Kik—IL (EBEFES

87|—BExX ikt 42— 1,211) T H#L-3,000 1,812.00(13-178%(4) 37,800 39,600 1,800 # |AHR—ILAGREREXT) Xt A—& 4
Ak F&
Ri—IL (EEFEH

87| —Bxitt> 54— 1,211) £ H%%-3,000 1,812.00|18-228% (4) 48,600 50,900 2300 & R—ILAGREZR B XIIE) bt 2—%51
AR5 - R
Ri—IL (EBEFEH

87| —Bx k> 42— 1,211) £ H%%-3,000 1,812.00{9-178%(8) 63,000 66,000 3000 = R—ILAGREREXE) bt 2—55]
Mk i - B
Ki—IL (EBEFEH

87| —Bxtt> 54— 1,211) £ H%%-3,000 1,812.00|13-228%(9) 86,400 90,500 4100( & R—ILAGREZR B XIIE) bt 2—%51
Mk - T2 %R
Ki—IL (EBFEH

87|—BEx bz 2— 1,211) £ H%%-3,000 1,812.00|9-220% (13) 99,000 103,700 4700 & R—ILAGREZR B XIIG) bt 2—%51
AXi#E-£8
Ri—IL (EBEFEH

87|—BEx btz 2— 1,211) ¥ H-3,000M 1,812.00{9-128%(3) 24,000 25,100 1,100 & R—ILAGREZR B XIIE) bt 2—%&51
WL )
Ki—IL (EBEFEH

87| —Bx k&> 42— 1,211) ¥ H-3,000M 1,812.00|13-178F(4) 34,000 35,600 1,600 & R—ILAGREREXIE) bt 2—55]
UE-Fi&
Ki—IL (EBEFEH

87|—BExX ikt 42— 1,211) ¥H-3,000M 1,812.00(18-228% (4) 44,000 46,000 2000 1 |[FR—ILAGREREXR) Xt A—& 4

KLk 7%

3/18 R—T




i s = - 4 IERT WIE£ o E PR — ey

No. ﬁﬁ;&%ﬁ'\ Ei%ﬁ'\ E#ﬁ ﬁ{-L ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx ﬁﬁ_l_ ﬁiéﬁg *15'] ;EEIJ%
Ki—IL (EBEFEH

87|—EEx btz 2— 1,211) 3¥H-3,000M 1,812.00{9-1785(8) 58,000 60,700 2,700 & R—ILAGREREXE) bt 2—55]
LLE - R fE
Kik—IL (EEFESR

87|—BEx bz 2— 1,211) 3¥H-3,000M 1,812.00/13-228%(9) 78,000 81,700 3,700, & R—ILAGREZR B XIIE) bt 2—%51
Uk -F%%KMH
Ki—IL (EBEFEH

87| —Bxittr 42— 1,211) ¥H-3,000M 1,812.00|9-228% (13) 90,000 94,200 4200 1 |FR—ILAGREZRERE) Xt 2—E&15
UE-£R
Ki—IL (EBEFEHR

87| —Bxtt> 42— 1,211) £ H%%-3,000 1,812.00{9-128%(3) 28,000 29,300 1,300] 1 [R—ILAGREREXI) Xkt 2—51
ML E -4l
Ki—IL (EBEFEHR

87| —Bx k> 42— 1,211) £ H%%-3,000 1,812.00{13-178% (4) 42,000 44,000 2000 & R—ILAGREREXE) bt 2—55]
AU E-F&
Kik—IL (EBEFES

87| —Bx k> 42— 1,211) £ H%%-3,000 1,812.00|18-228% (4) 54,000 56,500 2500 & R—ILAGREZR B XIIG) bt 2—%&51
ALt -7&HE
Ri—IL (EEFEH

87| —Bxitt> 54— 1,211) £ H#i-3,000 1,812.00|9-176% (8) 70,000 73,300 3300 # |FR—ILAGREREXIG) Xt 2—E&1E
ALl k- RRE
Ri—IL (EBEFEH

87| —Bx k> 42— 1,211) £ H%%-3,000 1,812.00/13-228%(9) 96,000 100,500 4500 i R—ILAGREREXTE) bt 2—55
AL E-FE&ERM
Ki—IL (EBEFEH

87|—BExX btz 2— 1,211) £ H%%-3,000 1,812.00(9-220% (13) 110,000 115,200 5200 & R—ILAGREZR B XIIE) bt 2—%51
AULE-£8

87|—BExX ikt 42— $E._))\%%§f§;ﬁqfﬁ%) 527.36(9-128% (3) 4,800 5,000 200 # |AR—ILAREREXIT) Xtz 2—5&4l

87| —Bx bt 5— ig_i%%iﬁgg 527.36(13-178% (4) 6,800 7,100 300 # |F—ILAGREREXR) XAt B—%&1F|

87|—BEx btz 2— ig_i%’ﬁiﬁ%%) 527.36|18-22B% (4) 8,800 9,200 400 & R—ILAGREREXTIE) bt 2—55]

87| —ExXittr5— $ETJ)\%’Z§§?§%) 527.36|9-178% (8) 11,600 12,100 500 1 |R—ILAGREREXIS) XAt 52—l

4/18 R—2




i s o - bt g IERT WIE£ ~ HE T .
NO. ﬁﬁa&%ﬁ'\ Ei%ﬁ'\ E#ﬁ ﬁ{i ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx ﬁﬁ_l_ ﬁiéﬁg %1&“ ;EEIJ%

thR—JL (EERE $k470)

87| —Bxxittr 45— ;%-A%éﬁi-#f& 527.36[13-228% (9) 15,600 16,300 700 # |FR—ILAGRERERIS) XAt A—&4Hl

A

87| —Bx k> 42— $E-_))kl%§§f&éﬂg) 527.36|9-228%(13) 18,000 18,800 800 # [FR—ILAGREZRERE) XibtE2—E&15
thR—JL (EERE $k470)

87| —Bxttr 45— EEI#R-)\%%H&-#— 527.36|9-120% (3) 5,600 5,800 200 # [FR—ILAGRERERRE) XAt 2—E 4
Al
thR—JL (EERE $k470)

87|—BExX ikt 4— :ga*ﬂ-)\i%%*ﬂr-ir— 527.36(13-178F (4) 8,400 8,800 400 #  |FR—ILAGRERERS) Xt a—5&4H)
f
thR—JL (EERE $k470)

87|—BExX ko 4— THRH- ASEH-K 527.36|18-220% (4) 10,800 11,300 500 & |R—ILAGRERERIS) Xt a—&4H
fl
thR—JL (EERE $k470)

87|—BEX bt 2— THRH- ASEH-B 527.36(9-178%(8) 14,000 14,600 600 & |FR—ILAGRIEZRERE) Xt a—&4H
fél
thR—JL (EERE $k470)

87|—BEx btz 2— :;;#R-)\i%%ﬂ-#— 527.36(13-228% (9) 19,200 20,100 900| ¥ |[FR—ILAGEFEREXIS) XAkt 2—51
%KM
HrR— )L (BERE 27470)

87|—RExX ko 4— TARM-AGEH-2 527.36(9-228% (13) 22,000 23,000 1,000 # |FR—ILAGRERERIE) Xt a—&4H
=}
Hik—)L (BERE27470)

87| —Bx k> 42— fEl-LoooHl«;l‘F-ir— 527.36|9-128%(3) 7,200 7,500 300 # [FR—ILAGRERERE) bt 2—%51
Al
Hik— )L (FERE27470)

87| —Bxitt> 42— IgEl-LoooHl«:L‘F-ir— 527.36|13-178% (4) 10,200 10,600 400 #  [FR—ILAGRERERE) bt 2—%51
f
thR—JL (EERE $k470)

87| —Bxtt> 42— TEH-1,000MHLLT-& 527.36|18-22R% (4) 13,200 13,800 600 & [R—ILAGEEREXIS) XAkt 2—E15
fél
thR—JL (EERE $k470)

87| —Bx k> 42— ;l;El-LoooHl«;L‘F-E 527.36|9-178%(8) 17,400 18,200 800 # [FR—ILAGREZRERE) bt 2—%51
Z]
thR—JL (EERE $k470)

87| —Bxitt> 54— I;;I;%,OOOHI;L‘F-#— 527.36(13-228% (9) 23,400 24,500 1,100 # |FR—ILAGREREXIE) bt 2—%51
®w|eE

5/18 R—T




i = = - i34 SR IE AT NIETR ~ HE ey ]
NO. ﬁﬁa&%ﬁ'\ Ei%ﬁ'\ E#ﬁ ﬁ{i ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx ﬁﬁ_l_ ﬁiéﬁg %1&“ ;EEIJ%
thR—JL (EERE $k470)
87| —Bx k> 42— FH-1,000HLTF-£ 527.36|9-228%(13) 27,000 28,200 1,200 # |FR—ILAGREREXIG) bt 2—%51
=]
thrR—JL (EERE $k470)
87|—BEx bz 2— idELI#R-LoooHDIF- 527.36|9-128%(3) 8,400 8,800 400 # [FR—ILAGRERERE) bt 2—%51
Al
thR—JL (EERE $k470)
87|—BEx k22— i;#ﬂ-wooﬂbﬂt- 527.36(13-178F (4) 12,600 13,200 600 & R—ILAREZR B XIIE) bt 2—%51
thR—JL (EERE $k470)
87|—BEx btz 42— é%#ﬂ-noooﬂu‘lﬁ 527.36|18-228% (4) 16,200 16,900 700 1 [FR—ILAGREREXIS) XAkt 2—E15
[z]
thR—JL (EERE $k470)
87|—BEx bz 2— %FEIE]?%-LOOOHDA‘F- 527.36|9-178%(8) 21,000 22,000 1,000 # |FR—ILAGREREXIT) bt 2—%51
MENEE]
thR—JL (EERE $k470)
87| —Bx k> 42— i;%;%,oooﬂu‘l:- 527.36(13-228F(9) 28,800 30,100 1,300 R—ILAGREREXTI) bt 2 —55]
[z]
thR—JL (EERE $k470)
87|—BEx btz 2— éEI#R-Looquu‘F- 527.36|9-228% (13) 33,000 34,500 1,500 R—ILAREZR B XIIE) bt 2—%51
B
thR—JL (EERE $k470)
87| —Bx k> 42— *H - 3,000 K& - 4 527.36|9-128%(3) 8,600 9,000 400 #  [FR—ILAGRERERE) bt 2—%51
Al
thR—JL (EERE $k470)
87| —Bx k> 42— ;FEI - 3,000 K5 - 4 527.36|13-178% (4) 12,000 12,500 500 # |FR—ILAREZRERE) bt 2—%51
f
Hik— )L (ERE22470)
87| —Bxitt> 42— T H-3,000M KR 527.36|18-220% (4) 15,800 16,500 700 # |FR—ILAGRERERE) bt 2—%51
fél
thR—JL (EERE $k470)
87| —Bxxittr 45— T H 3,000 K- B 527.36|9-178%(8) 20,800 21,700 900| ¥ |[R—ILAGEFEREXIS) XAkt 2—E15
fél
Hrk— )L (BERE27470)
87| —Bx k> 42— Ig%;g,oooﬂﬂ&ﬁ-#— 527.36(13-228% (9) 28,000 29,300 1,300 # |FR—ILAGREREXIG) bt 2—%51
AL
thR—JL (EERE $k470)
87| —Bxitt> 54— T H-3,000MKiE-& 527.36|9-228%(13) 32,400 33,900 1,500 # |FR—ILAGREREXIG) bt 2—%51
=]

6/18 R—T




i = = - i34 IEHI NIETR ~ HE ey ]
NO. ﬁﬁa&%ﬁ'\ Ei%ﬁ'\ E#ﬁ ﬁ{i ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx ﬁﬁ_l_ ﬁiéﬁg %1&“ ;EEIJ%
thR—JL (EERE $k470)
87|—EEx btz 2— iﬂ#ﬂ-s,oooﬂaﬁ;‘ﬁ- 527.36|9-128%(3) 10,100 10,500 400 # [FA—ILAGRERERE) bt 2—%51
Al
thR—JL (EERE $k470)
87|—BEx bz 2— i;#ﬂ-s,oooﬂaﬁ;ﬁ- 527.36|13-178% (4) 15,100 15,800 700 # |FHR—ILAGRERERE) bt 2—%51
thR—JL (EERE $k470)
87|—BEx k22— é%#ﬂ-s,oooﬂsﬁ;ﬁ- 527.36|18-228% (4) 19,400 20,300 900| ¥ |[R—ILAGEEREXIS) XAkt 2—E1
[z]
thR—JL (EERE $k470)
87| —Bxtt> 42— T B#i-3,000M%KH- 527.36|9-178%(8) 25,200 26,400 1,200 # |[FR—ILAGRERERE) XAkt 2—E15
RE
thR—JL (EERE $k470)
87| —Bx k> 42— igg%g,oooﬂﬂ%;ﬁ- 527.36(13-228% (9) 34,500 36,100 1,600 # |FR—ILAGREREXIS) bt 2—%51
[z]
Hik— )L (FERE 27470)
87|—BEx btz 2— éE*ﬂ-s,oooHﬂ%;ﬁ- 527.36|9-228% (13) 39,600 41,400 1,800 # |FR—ILAGREFZREXIG) bt 2—%51
B
thR—JL (EERE $k470)
87| —Bxitt> 54— *H 3,000 LA E -5 527.36|9-128%(3) 9,600 10,000 400 # |[FR—ILAGEFEREXIS) XAkt 2—51
Al
thR—JL (EERE $k470)
87| —Bx k> 42— ;FEI -3,000M LA E -4 527.36|13-178% (4) 13,600 14,200 600 & R—ILAGREREXTE) bt 2—55]
f
thR—JL (EERE $k470)
87| —Bx k> 42— FH-3,000MLLE-&” 527.36|18-228% (4) 17,600 18,400 800 # [F—ILAGREZRERE) bt 2—%51
fé
thR—JL (EERE $k470)
87| —Bxitt> 42— EH-3,000MLLE-B 527.36(9-178F(8) 23,200 24,300 1,100 R—ILAGREREXTI) bt 2—55]
fél
thR—JL (EERE $k470)
87| —Bxtt> 42— ;F;-s,oooﬂl«lr#— 527.3613-228%(9) 31,200 32,600 1,400 # |[FA—ILAGRERERE) XAkt 2—E15
20!
thR—JL (EERE $k470)
87| —Bx k> 42— SEH-3,000MULE-& 527.36|9-228% (13) 36,000 37,700 1,700 R—ILAGREREXTIE) bt 2—55]
=]
thR—JL (EERE $k470)
87|—BEx bz 2— iﬂ#ﬂ-s,oooﬂui- 527.36|9-128%(3) 11,200 11,700 500 & R—ILAGREREXT) bt 2—55]
Al

7/18 R—




e ez B HEA mw | owe | SER | IR oy | XE FE L] 5071 1A%
87|—BAxX bt A— zgil_ﬂ)-bs,(o%ﬁﬁﬂo ) 527.36|13-178% (4) 16,800 17,600 800 # |[R—ILAGRIERERE) Xt 2—545)
87|—BAxX bt A— %;%_R{bs,(or%ﬁ%fﬁ ) 527.36|18-228% (4) 21,600 22,600 10000 # |FR—ILAGRERERE) X2 —545)

5
87| —Bx it 52— %;:;#T{-%F%ﬁﬁff ) 527.36/9-178% (8) 28,000 29,300 1,300 &  |[FR—ILAGRERERE) XAt A—%&15)
87| —Bx it 52— zg%;é((%ﬁﬁff ) 527.36(13-226% (9) 38,400 40,200 1,800 # |FR—ILAGRERENE) XAb 2 A—%&15)
5
87|—BAxX bt A— zgg}l&(ﬁﬁﬁﬂo ) 527.36|9-228% (13) 44,000 46,0000 2,000 # |FR—ILAGREREX) Xt 2—545)
87| —Exittr5— gﬁ};ﬁ%(ﬁﬂﬁmu 183.51(9-12%(3) 1,800 1,800 0| #EE |F—ILAGRERERE) XAt 52—l
87| —ExX bt 5— Q;T;‘?é';(ﬁﬂﬁmu 183.51|13-178% (4) 2,400 2,500 100 #  |R—ILAGREREXE) XAt 2 —5&Afl
87| —Bx it 42— Q;T%E_Fé';(gﬂﬁﬁl‘w 183.51|18-228% (4) 3,000 3,100 100| #  |FR—ILAGREREXE) XAtz A—%&15)
87| —Bx it 52— Q;T‘E\_F:E]lg(ﬁﬂﬁﬂ"w 183.51|9-178%(8) 4,200 4,400 200 # |[FR—ILAGREREXIR) Xibt B—%&1E|
87| —Exittr5— g{*;é'%%f”ﬁmu 183.51|13-228% (9) 5,400 5,600 2000 B [FR—ILAGREREXRD) XAt 2 —&Afl
87|—Bx it 2— Q;T\@_ég(g*ljﬁmu 183.51|9-228% (13) 6,000 6,200 200 # |[F—ILAGREREXIS) Xt B—%&1F|
87| —BEX bt a— %J%T—)u(*gﬂﬁa&]# 183.51|9-1285(3) 3,600 3,700 00| # |FR—ILAGRERERRE) XAtz A— &4l
87| —ExX bt a— ;g;'_‘_”’(ﬁ*”ﬁm'q: 183.51(13-178% (4) 4,800 5,000 200 1% |R—ILAGRERERE) XAtz B— &4l
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e ez B HEA mw | owe | SER | IR oy | XE FE L] 5071 1A%
87| —EIX it 5 — l;i%;'_‘_”’(g*”ﬁﬂ"]'& 183.51(18-228% (4) 6,000 6,200 200] 8 |h—LAGRERERE) XAt a—5fl
87| —EX it 52— l;i%;'_‘_”’(ﬁ*”ﬁm'g‘ 183.51|9-1785(8) 8,400 8,800 400| 8 |R—LAGRERERE) Xt a—5fl
87| —ExX bt 57— ;J;I?;%))L(ﬁiﬁjﬁa"]# 183.51|13-228%(9) 10,800 11,300 500 & |[FR—ILAGRERER) XAt A—%&15)
87| —Ex bt a— g;h—»(”é?%uaﬁ@-é 183.51(9-228% (13) 12,000 12,500 500 & |R—ILAGRERERE) XAt a—54
87| —BExxib > 4— E;oﬁéﬁ%ﬂ;‘%t 222.24|9-128%(3) 3,000 3,100 100 #& |BRE Xt 2 —%AH
87| — it 5— BRZTDRESI | 2904131788 (4) 40000 4100  100| # |EFz etz 5— 5l
87| — it 5— BIRZIBRBIT | 22004182288 (4) 5000 5200 200 # |EFE Az 5— 5l
87| —ExX bt s— %?{;ﬁgﬁ%%ﬁ%t 222.24|9-178%(8) 7,000 7,300 300 # |[BRE bt 2—5H

BRE (AGEHE
87| —BExX bt 5— %:;moﬂ LT -FH&RE 222.24{13-228%(9) 9,000 9,400 400 & |(BRE XAtz 2—%4|
87| — it 5— BIRZTDRBTT | 220.040-2085(13) 10000 10400 400 & |EEm=E etz 5— 5l
87| —ExX bt 5— Eigg#%fﬂr@,ooo 222.24|9-128% (3) 4,500 4,700 200 # |(BERE Xt 2 —%&AHl
87| —Bx it 42— %igfégfﬂrﬁmoo 222.24(13-17685 (4) 6,000 6,200 200 # |BRE XAtz 2—%4|
87|—BAxX bt A— Eigfégfﬂrﬁmoo 222.24|18-228% (4) 7,500 7,800 300, # [BRE Xt 2 —545)
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MeE%

HIEHT WIETR

BE

No. FEER A TR HEEW [EE Bify wEs | mmle | BB | A HEHR %&1- RAE
87| —ExX Lt 5— %igfégfﬂ@moo 222.24|9-178% (8) 10,500 11,000 500| i Xt 2 —%AH
87|—BAxX bt A— Eigfézgg;,ooo 222.24|13-228% (9) 13,500 14,100 600| % Xieto2—545)
87|—BxX b A— %igféﬁfﬂrﬁmoo 222.24|9-228% (13) 15,000 15,700 700| % X2 —545)
87| —ExX bt 5— %E%fé%fﬂf@poo 222.24|9-128% (3) 5,400 5,600 2000 i Xt 2 —%&AHl
87| —BExX Lt 5— %g—ﬁ%giﬂﬁmoo 222.24{13-1785 (4) 7,200 7,500 300 i Xt 2 —%AH
87| —EIX bt a— ﬁﬁ%%%ﬁﬁ"ooo 222.24{18-228% (4) 9,000 9400  400| Xt 5 —&hl
87|—BxX bt A— ﬁﬁ%fé%fﬂfﬁwoo 222.24|9-178%(8) 12,600 13,200 600| % Xibto2—545)
87| —BxT bt 2 — ﬁzf(ézgg;ooo 222.24(13-228% (9) 16,200 16,900 700 # XAtz B—%H
87| —BExX bt 5— %E%féiagfﬂ@moo 222.24|9-228% (13) 18,000 18,800 800 i Xt 2 —%&4Hl
87|—BxX bt A— g?—:g(gxuga@-q: 222.24|9-128%(3) 6,000 6,200 2000 i Xt 2 —%AH
87|—BxX bt A— %;’_‘E(gﬂgﬂq'* 222.24|13-178% (4) 8,000 8,300 300 i Xt 2 —%&AHl
87|—B L 42— gfz(gxuga@-& 222.24|18-228% (4) 10,000 10,400 400 Xt 2 —%AHl
87|—BAxX bt A— ERE(EREMN-B 222.24|9-178%(8) 14,000 14,600 600 i Xt 2—%AHl

f&l)
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L W3R 7 HELH mw | owe | SER | IR oy | XE HERE &1- 814
87| —ExX Lt 5— §§%§g$|jgaq-q: 222.24{13-228%(9) 18,000 18,800 8oo| & (BRE Xt 2 —%AH
87| —ExX bt 5— §;’_‘§(§ﬂ CLAES 222.24|9-228% (13) 20,000 20,900 900 & [BRE Xt 2—%AHl
87| —EAst Lt 58— ;,f&;ﬁ:’,fﬁ%(ﬁ* 8 24.85(9-128% (3) 400 400 of EE |REB-mE XAtz 5—%H
87| —ExX bt 5— ;{;ﬁ;ﬁj’i’%(ﬁﬂa 24.85(13-178% (4) 500 500 of EE |REB-#E Xt 5—%AAl
87| — Bt b 5 — YO EERE | 54 85)18-2285 (4) 600 600 of BE |xE-m= it — 2
87| — Bz 54— %&;?é’%)(ﬁﬂg 24.859-178% (8) 900 900 of BE |RE-mE Xt 2 —&H)
87| —ExXittr5— %&;*Tg%%%ﬁ:%ﬂﬁ 24.85(13-220%(9) 1,100 1,100 o| EE |mB-fE= bt S— 51
87| —Bx it 52— ;{]’L\E;fé’ EE)(g*'JE 24.85(9-228% (13) 1,300 1,300 of BE |REB-#= XAbtz 2—%4|
87| — Bt it 5 — LTI VEERE | g sslo-10(3) 800 800 of BE |xm-wm= Sl A— G
87|—Ex bt 54— ;,]',\qu)»g(ﬁﬂg 24.85(13-178% (4) 1,000 1,000 o #RE |KE-#=F XAt 2—%&5p5l
87(—BAxX bt A— ;i]’_\%%)’bg(ﬁﬂg 24.85|18-228% (4) 1,200 1,200 of IRE |XRE-##F=E XAt 2—545)
87| —BExX bt 5— ;J,,]'_\E_ﬁg)) LE(EFIE 24.85(9-178% (8) 1,800 1,800 of EE |RE-#EE Xt 5—%&AAl
87| —Exib 53— ;i]/.\;gg%)(ﬁiﬁja 24.85/13-220%(9) 2,200 2,300 100 1 |EBR-E=E Xt 5—%&Hl
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SIEAT

WIETR

BE

No. HEE&k & BERM EiE B EEE | ERE tEER A, BEHY %&1- $RAIA
87| —BT bt 2 — ;{]’_‘;g)’l’z(ﬁﬂg 24.85(9-2285 (13) 2,600 2,700 100 f |zE-E= XAbto A—5 A
87| —ExX Lt 5— RAR—ILERT (8D 22.18|9-128% (3) 500 500 of IRE |XREB-#EF=E Xt 2—545)
87| —ExX bt 5— RR—ILERT(FH) 22.18|13-178% (4) 600 600 of IRE |XE-ZF=E XAt 2—545)
87| —ExX bt 5— RR—ILERT (KRR 22.18|18-228% (4) 700 700 of IRE |XEB-#EF=E XAtz 2—545)
87| —BExX bt 5— Ki—ILERT(BR) 22.18(9-1785(8) 1,100 1,100 of IRE |XREB-#EF=E XAt 2—545)
87| —BExx ik 42— %;'_‘_“’;?éE (F&RR 22.18|13-220%(9) 1,300 1,300 0| BE |REB-#= XAtz 2—%4|
87|—BAxX b A— RKR—ILVERI(£H) 22.18|9-228% (13) 1,600 1,600 0| IRE |XE-#ZF=E Xt 2—545)
87| —ExX bt 5— ﬁ;‘i;’ﬁlﬁ%ézw’”’ 9.78|9-128%(3) 300 300 of BE |RE-#£= XAb 2 2—%H5I
87| —Exittr5— ﬁ;‘i;’gﬁgzw’”’ 9.78|13-178% (4) 400 400 of BE |RE-#£= XAb 2 2—%H5I
87| —Bx it 52— ﬁ;t—z%%;)?ééz(h«w 9.78|18-228% (4) 500 500 of BE |RE-#£= XLt 2—%H5I
87| —ExX bt 57— ﬁ;ﬁé%;’)%gmvﬂ’ 9.78|9-178%(8) 700 700 of FE |XE-EE XAtz A—%&15)
87| —BIxib A — ﬁﬁ;ﬁ;ﬁ%ﬁ“’w 9.78[13-228% (9) 900 900 0 RE |XE-2= XAkt —5H
87| —Bx it 52— AR RE2 (ML 9.78|9-228% (13) 1,100 1,100 of BE |RE-#£= XLt 2—%H5I

) (£8)
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ik

SIEAT

WIETR

BE

N HE 8% F HEEH E | 2l | BEe | BB | an HEE %Hl- #1814
87| —Exxib £ a— ﬁ?ﬁ;’ﬁ'ﬁg"’“‘“’ 9.78|9-128% (3) 300 300 RE |xB-@E XAt s—2H
87| — B i £ 5— ﬁ;‘};’gﬁg““b 9.78|13-178% (4) 400 400 BE |2E-@= Xt A— 2 f)
87| — B i £ 5— ﬁ;‘}%’%ﬁﬁg"’(“l’ 9.78|18-228% (4) 500 500 BE |2E-@= XAt A— 2 f)
87| —Exxib £ 5— ﬁ;‘}gﬁ;‘%g‘("'fl’ 9.78|9-178% (8) 700 700 BE (2B XAt A— 2 f)
87| —Exxib £ a— ﬁﬁ;ﬁ;ﬁ%ﬁ“"w 9.78|13-228% (9) 900 900 BE |2E-@= XAt A— 2 f)
87|—Bx it 22— ﬁ;l’z—@)éé)?éEMHb 9.78(9-228% (13) 1,100 1,100 RE |RE-#£= XAtz 2—%45|
87| —BExX bt 5— RR—ILEE4 (AT 20.84|9-128% (3) 500 500 RE |XKE-E=E Xt 2—545)
87|—BAX bt A— KR—ILER4(FHK) 20.8413-178% (4) 600 600 RE |EKEB-E=E XAt 2—545]
87|—BAxX bt A— Ki—ILER4 (KRR 20.84|18-228% (4) 700 700 RE |XKEB-E=E XAt 2—545)
87|—BAxX bt A— Ki—ILER4 (R 20.84|9-1785 (8) 1,100 1,100 RE |EKEB-E=E XAt 2—545)
87| —Exib o 5— %;'_‘_"’;’?‘E“(q:&& 20.84|13-228% (9) 1,300 1,300 RE |EE-Z= Xtz 5—%&AAl
87|—BxX bt A— Ri—ILER4(£H) 20.84(9-228% (13) 1,600 1,600 RE |XKEB-E=E XAt 2—545)
87| —BExX Lt 5— RR—IJLEES (AT 21.29|9-128% (3) 500 500 RE |XKEB-E=E Xt 5—%&Hl
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L R T HEATH mw | owe | SER | IR oy | XE g %41 1A%
87|—BAxX bt A— RR—ILERS (F#K) 21.29|13-178% (4) 600 600 RE |EKEB-E=E XAt 2—545)
87| —BExX bt 5— R—ILERES (R 21.29|18-228% (4) 700 700 RE |XKEB-E=E Xkt 5—%&Hl
87(—BAxX b A— K—ILERES (B 21.29(9-178% (8) 1,100 1,100 RE |XKE-E=E Xkt 5—%&AAl
87|—Bx it 2— %;“_"’%Es(*&&_ 21.29(13-228%(9) 1,300 1,300 RE |EEBE-£= XAt 2—%HI
87(—BX bt A— RR—ILERS(£H) 21.29|9-228% (13) 1,600 1,600 RE |EKEB-E=E XAt 2—545)
87| —ExX bt 5— srR— L ZE 1 (Al 10.67|9-128% (3) 300 300 RE |EKEB-EF=E Xt 5—%&Hl
87| —ExX bt 5— hAR—ILEE1(F&) 10.67|13-1785 (4) 400 400 RE |XKE-E=E Xt 2—545)
87|—BX bt A— srR— L1 () 10.67|18-228% (4) 500 500 RE |EKEB-EF=E XAt 2—545)
87|—BAxX bt A— R— L1 (BRE) 10.67|9-178% (8) 700 700 RE |XKEB-EF=E XAt 2—545)
87| —RBAx iz 5— Eg?"_’ VREIFRE  067]13-00m(0) 900 900 BE |2E-BE XAkt S—ghl
87|—BAxX bt A— hR—JLEE1(£R) 10.67|9-228% (13) 1,100 1,100 RE |EKE-E=E Xt 5—%&AAl
87| —BExX Lt 5— HrR— LB 2 (Al 15.07|9-128% (3) 400 400 RE |EKEB-E=E Xkt 5—%&Hl
87| —BExX Lt 5— hR—ILEEB2(F%&) 15.07|13-1785 (4) 500 500 RE |EKEB-E=E Xkt 5—%&Hl
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L R T HEATH mw | owe | SER | IR oy | XE g %41 1A%
87|—BAxX bt A— srR— L B2 () 15.07|18-228% (4) 600 600 RE |EKEB-E=E XAt 2—545)
87| —BExX bt 5— tR— L E2 (BRE) 15.07|9-178% (8) 900 900 RE |XKEB-E=E Xkt 5—%&Hl
87| —ExXib o 4— %;‘_‘_“’%EZ(*&&_ 15.07|13-228%(9) 1,100 1,100 RE |EE-E=E Xt 52—l
87| —ExX bt 5— PR—ILER2(£H) 15.07|9-228% (13) 1,300 1,300 RE |EKE-EF=E Xkt 5—%Hl
87| —BExX bt 5— s7R— L 223 (Al 15.07|9-128% (3) 400 400 RE |EKEB-E=E Xkt 5—%&Hl
87| —ExX bt 5— hR—ILEE3 (F&) 15.07|13-1785 (4) 500 500 RE |EKEB-EF=E Xt 5—%&Hl
87| —ExX bt 5— HrR— L3 () 15.07|18-228% (4) 600 600 RE |XKE-E=E Xt 2—545)
87|—BX bt A— HR— L E3 (BRE) 15.07|9-178% (8) 900 900 RE |EKEB-EF=E XAt 2—545)
87| —Exib o 5— %T—)l«é‘%‘é%%#i&&‘ 15.07|13-228%5(9) 1,100 1,100 RE |EE-E= Xt 52—l
87|—BxX bt A— PAR—ILERE3(£H) 15.07|9-228% (13) 1,300 1,300 RE |EKE-EF=E Xt 5—%&Hl
87| —ExX bt 5— HrR— LB 4 (Al 20.72|9-1285 (3) 500 500 RE |EKEB-E=E Xt 2—545)
87| —BExX Lt 5— hR—ILERB4(F) 20.72|13-178% (4) 600 600 RE |XKEB-E=E Xkt 5—%&AHl
87| —BExX bt 5— srR— L ZE B4 () 20.72|18-228% (4) 700 700 RE |XKEB-EF=E Xkt 5—%&Hl
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L R T HEATH mw | owe | SER | IR oy | XE g %41 1A%
87|—BAxX bt A— thrR— L B4 (BRE) 20.72(9-178% (8) 1,100 1,100 RE |EKEB-E=E XAt 2—545)
87| — B3It A— %;“_"’%E“(*&&_ 20.72|13-228% (9) 1300 1,300 RE |%E-gE XAtz A—5 A
87|—BxX bt A— hR—ILERB4(£R) 20.72|9-228% (13) 1,600 1,600 RE |XE-EF=E Xt 52—l
87| —ExX bt 5— EEBEHE(FED 9.55(9-128% (3) 300 300 RE |EKE-EF=E XAtz 2—545)
87| —BExX bt 5— EBEBE(FR) 9.55(13-1785 (4) 400 400 RE |EKEB-E=E XAt 2—545)
87|—BAX bt 2— EBEHE (KM 9.55(18-228% (4) 500 500 RE |RE-2E XAt 2—%&4p5l
87| —ExX bt 5— EBEHBE(RH) 9.55(9-178% (8) 700 700 RE |XKE-E=E Xkt 5—%&AAl
87|—BX bt A— %‘gﬁ%%ﬁz(#f&ﬁ 9.55|13-228% (9) 900 900 RE |EKEB-EF=E XAt 2—545)
87| —BExX Lt 5— EEEHE(2A) 9.55|9-228% (13) 1,100 1,100 RE |EE-E= Xt 5—%&AAl
87| —ExX Lt 5— FHEEEE(FED 17.24|9-128% (3) 400 400 RE |EKEB-E=E XAtz 2—545)
87| —BExX bt 5— FHEEE(FHR) 17.24{13-1785 (4) 500 500 RE |EKE-E=E Xt 5—%&AAl
87| —BExX Lt 5— FHEEEE (KM 17.2418-228% (4) 600 600 RE |EKEB-EF=E XAt 2—545)
87| —BExX bt 5— FHEEEE(RM) 17.24|9-178% (8) 900 900 RE |XKEB-E=E XAt 2—545)
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L R T HEATH mw | owe | SER | IR oy | XE g %41 1A%
87|—BAxit 42— %g&%‘ REIFERR 17.24|13-2265(9) 1,100 1,100 RE |EEBE-#= XAtz 2—%4|
87| —ExX Lt 5— FHEEEEI(£H) 17.24|9-228% (13) 1,300 1,300 RE |EKEB-EF=E XAt 2—545)
87| —ExX bt 5— FHEEEE2 (FAD 11.50(9-128% (3) 300 300 RE |XE-EF=E XAt 2—545)
87| —ExX bt 5— FHEEE2(FHR) 11.50(13-1785 (4) 400 400 RE |EKE-EF=E XAtz 2—545)
87| —BExX bt 5— FHEEEE2 (KM 11.50|18-228% (4) 500 500 RE |EKEB-E=E XAt 2—545)
87| —ExX bt 5— FHEEEE2(RM) 11.50(9-178% (8) 700 700 RE |EKEB-EF=E XAtz 2—545)
87|—RBxit o 2— %g}i% RE2(FRR 11.50{13-228% (9) 900 900 RE |EE-£= XAtz 2—%4|
87| —ExX Lt 5— FHEEEE2(£H) 11.50|9-228% (13) 1,100 1,100 RE |XKEB-EF=E XAt 2—545)
87|—BAxX bt A— HHEE2 37.72| 1B/ 200 200 RE g%&)ﬁ%i%“%%mﬁ&a XAtz 52— %Al
87|—BxX bt A— HHEES 42.96(1B5R4 200 200 RE Z@)ﬁ%ﬁigA(%ﬁﬁﬂ&U XAtz 52— %Al
87| —Bx it 52— MZE1(148) 37.92| 185/ 200 200 REE E{E%fﬁizgmiﬁﬁﬁ-g&u XAtz 2—%4H|
87| —ExX it 42— =2(148) 39.05|1 B8 200 200 BE g%&)ﬁ%ﬁig;“%%ma&a XAkt 5—%H
87| —BExX it 42— =3(218) 38.88|1B5 RS 200 200 BE g%&ﬁ%ﬁE%A@%m&&U XAkt 5—%A

17 /18 R—




i o = - revi i IEAT WIE£ " HE e .

NO. HEEQ%*;]" Ei%ﬁ'\ E#ﬁ ﬁ{i ﬁﬁﬁ*ll- ﬁﬁﬁﬂ tbﬁx 75%'_ ﬁiéﬁg %1&“ ;EEIJ%
87| —Bxxittr 45— SEE 42.96|1BFRS 200 200 o #EE g%&)ﬁ%ﬁggp&%ﬁmg&&a bt 2—E&15
87| — Bt 2— HHE=E1 80.46| 1 BFRS 400 500 100 # |[HEEE-PCIL—L-FEE |[bto4—%H
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